

Svetlin Georgiev

Boundary Value Problems

Essential Fractional Dynamic Equations on Time Scales



Synthesis Lectures on Mathematics & Statistics

Series Editor

Steven G. Krantz, Department of Mathematics, Washington University, Saint Louis, MO, USA

This series includes titles in applied mathematics and statistics for cross-disciplinary STEM professionals, educators, researchers, and students. The series focuses on new and traditional techniques to develop mathematical knowledge and skills, an understanding of core mathematical reasoning, and the ability to utilize data in specific applications.

Svetlin Georgiev

Boundary Value Problems

Essential Fractional Dynamic Equations on Time Scales



Svetlin Georgiev Faculty of Mathematics and Informatics Sofia University Sofia, Bulgaria

ISSN 1938-1743 ISSN 1938-1751 (electronic) Synthesis Lectures on Mathematics & Statistics ISBN 978-3-031-38195-9 ISBN 978-3-031-38196-6 (eBook) https://doi.org/10.1007/978-3-031-38196-6

© The Editor(s) (if applicable) and The Author(s), under exclusive license to Springer Nature Switzerland AG 2024

This work is subject to copyright. All rights are solely and exclusively licensed by the Publisher, whether the whole or part of the material is concerned, specifically the rights of translation, reprinting, reuse of illustrations, recitation, broadcasting, reproduction on microfilms or in any other physical way, and transmission or information storage and retrieval, electronic adaptation, computer software, or by similar or dissimilar methodology now known or hereafter developed.

The use of general descriptive names, registered names, trademarks, service marks, etc. in this publication does not imply, even in the absence of a specific statement, that such names are exempt from the relevant protective laws and regulations and therefore free for general use.

The publisher, the authors, and the editors are safe to assume that the advice and information in this book are believed to be true and accurate at the date of publication. Neither the publisher nor the authors or the editors give a warranty, expressed or implied, with respect to the material contained herein or for any errors or omissions that may have been made. The publisher remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

This Springer imprint is published by the registered company Springer Nature Switzerland AG The registered company address is: Gewerbestrasse 11, 6330 Cham, Switzerland

Preface

The bilateral Laplace transform on arbitrary time scales and its absolute convergence, uniform convergence, and inversion integral were investigated in the recent paper [7]. These results can be involved for investigations of initial value problems, boundary value problems, initial boundary value problems for fractional Riemann-Liouville and Caputo dynamic equations and for impulsive fractional Riemann-Liouville and Caputo dynamic equations on arbitrary time scales. The bilateral Laplace transform admits the shifting problem to be considered on the whole time scale. In the book "Fractional Dynamic Calculus and Fractional Riemann-Liouville and Caputo dynamic equations for fractional Riemann-Liouville and Caputo dynamic equations do isolated time scales, as well as the shifting problem is considered on the right-hand side of isolated time scales. The main aim of this book is to represent an investigation of boundary value problems for fractional Riemann-Liouville and Caputo dynamic equations on arbitrary time scales and to be investigated the shifting problem on the whole time scale.

"Boundary Value Problems: Essential Fractional Dynamic Equations on Time Scales" contain 4 chapters. In Chap. 1 the Laplace transform on arbitrary time scales is introduced. It investigated the decay of the exponential function and the Laplace transform is investigated for convergence and differentiability. It deducted an inverse formula for the Laplace transform and it studied the Laplace transform of power series. The bilateral Laplace transform on time scales is investigated and its absolute convergence, uniform convergence, and inversion integral are shown. Chapter 2 is devoted to the generalized convolutions of functions on arbitrary time scales and it investigated the shifting problem for existence of solutions. In Chap. 3 a short overview of the basic definitions and basic facts from fractional dynamic calculus on time scales is made. In Chap. 4 we introduced boundary value problems and initial boundary value problems for some classes Riemann-Liouville fractional dynamic equations in the cases when $\alpha \in (0, 1)$ and $\alpha \in (1, 2)$. They deducted the main integral representations of the solutions and they are given some criteria for existence and uniqueness of the solutions.

This book is addressed to a wide audience of specialists such as mathematicians, physicists, engineers, and biologists. It can be used as a textbook at the graduate level and as a reference book for several disciplines.

Paris, France January 2023 Svetlin Georgiev

Contents

1	The l	Laplace Transform on Time Scales	1
	1.1	Definition of the Laplace Transform. Properties	1
	1.2	Decay of the Exponential Function	31
	1.3	Convergence of the Laplace Transform	38
	1.4	Inversion of the Laplace Transform	40
	1.5	The Laplace Transform of Power Series	43
	1.6	Differentiation of the Laplace Transform	45
	1.7	The Dirac Delta Functional	50
	1.8	The Bilateral Laplace Transform	52
	1.9	Advanced Practical Problems	59
	1.10	Notes and References	61
	Refer	ences	62
2	Gene	ralized Convolutions on Time Scales	63
	2.1	Generalized Shifts	63
	2.2	Generalized Convolutions	71
	2.3	The Generalized Convolution Theorem	76
	2.4	Advanced Practical Problems	76
	2.5	Notes and References	77
	Refer	ences	78
3	Elem	ents of Fractional Dynamic Calculus on Time Scales	79
	3.1	The \triangle -Power Function	79
	3.2	Definition for the Riemann-Liouville Fractional Δ -Integral	
		and the Riemann-Liouville Fractional Δ -Derivative	81
	3.3	Properties of the Riemann-Liouville Fractional Δ -Integral	
		and the Riemann-Liouville Fractional Δ -Derivative on Time Scales \ldots	87
	3.4	Definition for the Caputo Fractional Δ -Derivative. Examples	102
	3.5	Properties of the Caputo Fractional Δ -Derivative	104

	3.6	Advanced Practical Problems	107		
	3.7	Notes and References	109		
	Refe	rence	109		
4	Boundary Value Problems for Riemann-Liouville Fractional Dynamic				
	Equ	ations	111		
	4.1	Boundary Value Problems for Riemann-Liouville Fractional			
		Dynamic Equations when $\alpha \in (0, 1)$	111		
	4.2	Boundary Value Problems for Riemann-Liouville Fractional			
		Dynamic Equations when $\alpha \in (1, 2)$	129		
	4.3	Initial Boundary Value Problems for Riemann-Liouville Fractional			
		Dynamic Equations	152		
	4.4	Advanced Practical Problems	160		
	4.5	Notes and References	162		
In	dex.		163		

The Laplace Transform on Time Scales

1.1 Definition of the Laplace Transform. Properties

Let \mathbb{T} be a time scale with forward jump operator, backward jump operator, delta differentiation operator and nabla differentiation operator σ , ρ , Δ and ∇ , respectively. Let also, sup $\mathbb{T} = \infty$. Take $s \in \mathbb{T}$. If $z \in \mathbb{C}$ and $1 + \mu(t)z \neq 0$ for all $t \in \mathbb{T}^{\kappa}$, then

$$(\ominus z)(t) = -\frac{z}{1+\mu(t)z}$$

and

$$1 + \mu(t)(\ominus z)(t) = 1 - \frac{\mu(t)z}{1 + \mu(t)z} = \frac{1}{1 + \mu(t)z}$$

for any $t \in \mathbb{T}^{\kappa}$, and hence, $e_{\ominus z}(\cdot, s)$ is well defined on \mathbb{T}^{κ} .

Definition 1.1 Suppose that $f : \mathbb{T} \to \mathbb{R}$ is regulated. Then the Laplace transform of f is defined by

$$\mathscr{L}(f)(z,s) = \int_{s}^{\infty} e_{\ominus z}^{\sigma}(t,s) f(t) \Delta t$$
(1.1)

for $z \in \mathbb{C}$ for which $1 + \mu(t) z \neq 0$ for any $t \in \mathbb{T}^{\kappa}$ and the improper integral (1.1) exists. When s = 0, we will write $\mathscr{L}(f)(z)$.

Remark 1.1 Let $f : \mathbb{T} \to \mathbb{R}$ be regulated. With $\mathcal{D} \{f\}$ we will denote the set of all complex numbers *z* for which $1 + \mu(t) z \neq 0$ for any $t \in \mathbb{T}^{\kappa}$ and the improper integral (1.1) exists.



1

[©] The Author(s), under exclusive license to Springer Nature Switzerland AG 2024

S. Georgiev, *Boundary Value Problems*, Synthesis Lectures on Mathematics & Statistics, https://doi.org/10.1007/978-3-031-38196-6_1

Theorem 1.1 (Linearity) *Assume that* $f, g : \mathbb{T} \to \mathbb{R}$ *are regulated. Then, for any constants* α *and* β *, we have*

$$\mathscr{L}(\alpha f + \beta g)(z, s) = \alpha \mathscr{L}(f)(z, s) + \beta \mathscr{L}(g)(z, s)$$

for $z \in \mathcal{D} \{f\} \bigcap \mathcal{D} \{g\}, t \in \mathbb{T}$.

Proof Let $z \in \mathcal{D} \{f\} \cap \mathcal{D} \{g\}, t \in \mathbb{T}$. Then, we have

$$\begin{aligned} \mathscr{L} \left(\alpha f + \beta g \right)(z,s) &= \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) \left(\alpha f + \beta g \right)(t) \Delta t \\ &= \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) \left(\alpha f(t) + \beta g(t) \right) \Delta t \\ &= \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) \alpha f(t) \Delta t + \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) \beta g(t) \Delta t \\ &= \alpha \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) f(t) \Delta t + \beta \int_{s}^{\infty} e_{\ominus z}^{\sigma} \left(t,s \right) g(t) \Delta t \\ &= \alpha \mathscr{L} \left(f \right) \left(z,s \right) + \beta \mathscr{L} \left(g \right) \left(z,s \right). \end{aligned}$$

This completes the proof.

Lemma 1.1 Let $z \in \mathbb{C}$. Then

$$e_{\ominus z}^{\sigma}(t,s) = \frac{e_{\ominus z}(t,s)}{1+\mu(t)z}$$
$$= -\frac{(\ominus z)(t)}{z}e_{\ominus z}(t,s), \quad t \in \mathbb{T}.$$

Proof For $z \in \mathbb{C}$ and $t \in \mathbb{T}$, we have

$$e_{\ominus z}^{\sigma}(t,s) = e_{\ominus z}(t,s) + \mu(t) e_{\ominus z}^{\Delta}(t,s)$$

$$= e_{\ominus z}(t,s) + (\ominus z)(t) \mu(t) e_{\ominus z}(t,s)$$

$$= (1 + (\ominus z)(t) \mu(t)) e_{\ominus z}(t,s)$$

$$= \left(1 - \frac{\mu(t)z}{1 + \mu(t)z}\right) e_{\ominus z}(t,s)$$

$$= \frac{1}{1 + \mu(t)z} e_{\ominus z}(t,s)$$

$$= -\frac{1}{z} \left(-\frac{z}{1 + \mu(t)z}\right) e_{\ominus z}(t,s)$$

$$= -\frac{(\ominus z)(t)}{z} e_{\ominus z}(t,s).$$

This completes the proof.

Theorem 1.2 Assume $f : \mathbb{T} \to \mathbb{C}$ is such that f^{Δ^l} , $l \in \{0, ..., k\}$, are regulated. Then

$$\mathscr{L}\left(f^{\Delta^{k}}\right)(z,s) = z^{k}\mathscr{L}\left(f\right)(z,s) - \sum_{l=0}^{k-1} z^{l} f^{\Delta^{k-1-l}}(s)$$
(1.2)

for those $z \in \mathcal{D} \{f\} \cap \mathcal{D} \{f^{\Delta}\} \cap \ldots \cap \mathcal{D} \{f^{\Delta^k}\}$ satisfying $\lim_{t \to \infty} \left(f^{\Delta^l}(t) e_{\Theta_{\mathcal{I}}}(t, s) \right) = 0, \quad l \in \{0, \dots, k-1\},$

for any $t \in \mathbb{T}$.

Proof Let $t \in \mathbb{T}$. We will use induction.

1. Let k = 1. Take $z \in D\{f\} \cap D\{f^{\Delta}\}$ so that

$$\lim_{t \to \infty} \left(f(t) e_{\ominus z}(t, s) \right) = 0.$$

Integrating by parts and using Lemma 1.1 and the condition (1.3), we get

$$\begin{aligned} \mathscr{L}\left(f^{\Delta}\right)(z,s) &= \int_{s}^{\infty} f^{\Delta}(t) e^{\sigma}_{\ominus z}\left(t,s\right) \Delta t \\ &= f(t) e_{\ominus z}\left(t,s\right) \Big|_{t=s}^{t\to\infty} - \int_{s}^{\infty} f(t)\left(\ominus z\right)\left(t\right) e_{\ominus z}\left(t,s\right) \Delta t \\ &= -f\left(s\right) + z \int_{s}^{\infty} f(t) e^{\sigma}_{\ominus z}\left(t,s\right) \Delta t \\ &= -f\left(s\right) + z \mathscr{L}\left(f\right)\left(z,s\right). \end{aligned}$$

- 2. Assume that (1.2) holds for some $k \in \mathbb{N}$ and for those $z \in \mathcal{D}\{f\} \cap \mathcal{D}\{f^{\Delta}\} \cap \dots$ $\bigcap \mathscr{D}\left\{f^{\Delta^k}\right\} \text{ for which (1.3) hold.}$ 3. We will prove

$$\mathscr{L}\left(f^{\Delta^{k+1}}\right)(z,s) = z^{k+1}\mathscr{L}\left(f\right)(z,s) - \sum_{l=0}^{k} z^{l} f^{\Delta^{k-l}}(s)$$

for those $z \in \mathscr{D} \{f\} \cap \mathscr{D} \{f^{\Delta}\} \cap \ldots \cap \mathscr{D} \{f^{\Delta^{k+1}}\}$ for which

$$\lim_{t \to \infty} \left(f^{\Delta^l}(t) e_{\Theta_{\mathcal{I}}}(t, s) \right) = 0, \quad l \in \{0, \dots, k\}.$$

$$(1.4)$$

(1.3)

Really, let $z \in \mathcal{D} \{f\} \bigcap \mathcal{D} \{f^{\Delta}\} \bigcap \ldots \bigcap \mathcal{D} \{f^{\Delta^{k+1}}\}$ be such that (1.4) hold. Integrating by parts and using Lemma 1.1 and (1.2), we get

$$\begin{split} \mathscr{L}\left(f^{\Delta^{k+1}}\right)(z,s) &= \int_{s}^{\infty} f^{\Delta^{k+1}}(t)e_{\ominus z}^{\sigma}\left(t,s\right)\Delta t\\ &= f^{\Delta^{k}}(t)e_{\ominus z}\left(t,s\right)\Big|_{t=s}^{t\to\infty} - \int_{s}^{\infty} f^{\Delta^{k}}(t)\left(\ominus z\right)\left(t\right)e_{\ominus z}\left(t,s\right)\Delta t\\ &= z\int_{s}^{\infty} f^{\Delta^{k}}(t)e_{\ominus z}^{\sigma}\left(t,s\right)\Delta t - f^{\Delta^{k}}\left(s\right)\\ &= z\mathscr{L}\left(f^{\Delta^{k}}\right)(z,s) - f^{\Delta^{k}}(s)\\ &= z\left(z^{k}\mathscr{L}(f)(z,s) - \sum_{l=0}^{k-1} z^{l}f^{\Delta^{k-1-l}}(s)\right) - f^{\Delta^{k}}(s)\\ &= z^{k+1}\mathscr{L}(f)\left(z,s\right) - \sum_{l=0}^{k-1} z^{l+1}f^{\Delta^{k-1-l}}\left(s\right) - f^{\Delta^{k}}\left(s\right)\\ &= z^{k+1}\mathscr{L}(f)(z,s) - \sum_{l=0}^{k} z^{l}f^{\Delta^{k-l}}(s) - f^{\Delta^{k}}(s)\\ &= z^{k+1}\mathscr{L}(f)\left(z,s\right) - \sum_{l=0}^{k} z^{l}f^{\Delta^{k-l}}(s) - f^{\Delta^{k}}(s)\\ &= z^{k+1}\mathscr{L}(f)\left(z,s\right) - \sum_{l=0}^{k} z^{l}f^{\Delta^{k-l}}(s). \end{split}$$

This completes the proof.

Example 1.1 Let $z \in \mathbb{C}$ be such that

$$1 + \mu(t)z \neq 0 \quad and \quad \lim_{t \to \infty} e_{\ominus z}(t, s) = 0. \tag{1.5}$$

Then

$$\begin{aligned} \mathscr{L}(1)(z) &= \int_{s}^{\infty} e_{\ominus z}^{\sigma}(t,s) \Delta t \\ &= \int_{s}^{\infty} \left(1 + \mu(t) \left(\ominus z\right)(t)\right) e_{\ominus z}(t,s) \Delta t \\ &= \int_{s}^{\infty} \left(1 - \frac{z\mu(t)}{1 + z\mu(t)}\right) e_{\ominus z}(t,s) \Delta t \\ &= -\frac{1}{z} \int_{s}^{\infty} \left(-\frac{z}{1 + z\mu(t)}\right) e_{\ominus z}(t,s) \Delta t \\ &= -\frac{1}{z} \int_{s}^{\infty} \left(\ominus z\right)(t) e_{\ominus z}(t,s) \Delta t \end{aligned}$$

$$= -\frac{1}{z} \int_{s}^{\infty} e_{\Theta z}^{\Delta}(t, s) \Delta t$$
$$= -\frac{1}{z} e_{\Theta z}(t, s) \Big|_{t=s}^{t \to \infty}$$
$$= \frac{1}{z}.$$

Example 1.2 Let $\mathbb{T} = \mathbb{Z}$, s = 0 and

$$f(t) = t^2 + 1, \quad t \in \mathbb{T}.$$

We will find $\mathscr{L}(f)(z)$ for $z \in \mathscr{D}{f}$. We have

$$\sigma(t) = t + 1, \quad \mu(t) = 1, \quad t \in \mathbb{T}.$$

We set

$$f_1(t) = t, \quad t \in \mathbb{T}.$$

Let $z \in \mathbb{C}$ be such that $z \in D\{f_1\} \cap D\{f_1^{\Delta}\} \cap D\{f\} \cap D\{f^{\Delta}\}$ and (1.5) hold. By (1.2), we have $\mathscr{L}(f^{\Delta})$

$$\mathscr{L}\left(f_{1}^{\Delta}\right)(z) = z\mathscr{L}\left(f_{1}\right)(z) - f_{1}\left(0\right),$$

or

$$\mathscr{L}(1)(z) = z\mathscr{L}(f_1)(z),$$

or

or

 $\frac{1}{z} = z \mathscr{L}(f_1)(z) \,,$

$$\mathscr{L}(f_1)(z) = \frac{1}{z^2}.$$

Note that

$$f^{\Delta}(t) = \sigma(t) + t$$
$$= t + 1 + t$$
$$= 2t + 1, \quad t \in \mathbb{T}.$$

Therefore

$$\begin{aligned} \mathscr{L}\left(f^{\Delta}\right)(z) &= 2\mathscr{L}\left(f_{1}\right)(z) + \mathscr{L}(1)\left(z\right) \\ &= \frac{2}{z^{2}} + \frac{1}{z} \\ &= \frac{z+2}{z^{2}}. \end{aligned}$$

Now, we use (1.2) to get

$$\mathscr{L}\left(f^{\Delta}\right)(z) = z\mathscr{L}\left(f\right)(z) - f\left(0\right),$$

or

or

or

$$\frac{z+2}{z^2} = z\mathscr{L}(f)(z) - 1,$$

$$\frac{z+2}{z^2} + 1 = z\mathscr{L}(f)(z),$$

$$\frac{z^2 + z + 2}{z^2} = z\mathcal{L}(f)(z)$$

,

or

$$\mathscr{L}(f)(z) = \frac{z^2 + z + 2}{z^3}$$

Example 1.3 Let $\mathbb{T} = \mathbb{N}_0^2$, s = 0 and

$$f(t) = \frac{2t + 2\sqrt{t} + 3}{(t+1)^2 (t+2\sqrt{t}+2)^2}, \quad t \in \mathbb{T}.$$

We will find $\mathscr{L}(f)(z)$ for $z \in \mathscr{D}{f}$. Let

$$h(t) = \frac{1}{\left(t+1\right)^2}, \quad t \in \mathbb{T}.$$

Take $z \in D\{f\} \bigcap D\{h\}$. We have

$$\sigma(t) = t + 2\sqrt{t} + 1,$$

$$\mu(t) = 2\sqrt{t} + 1, \quad t \in \mathbb{T}.$$

Note that

$$\begin{split} e^{\sigma}_{\ominus z}(t,0) &= e_{-\frac{z}{1+z\mu(t)}} \left(\sigma(t),0\right) \\ &= e^{-\int_{0}^{\sigma(t)} \frac{1}{\mu(\tau)} \operatorname{Log}(1+z\mu(\tau))\Delta\tau} \\ &= e^{-\sum_{\tau \in [0,t]} \operatorname{Log}(1+z\mu(\tau))} \\ &= \prod_{\tau \in [0,t]} \frac{1}{(1+z\mu(\tau))} \\ &= \prod_{\tau \in [0,t]} \frac{1}{(1+z\left(1+2\sqrt{\tau}\right))}, \quad t \in \mathbb{T}. \end{split}$$

Then

$$\begin{aligned} \mathscr{L}(h)(z) &= \int_0^\infty \frac{1}{(1+t)^2} e_{\ominus z}^{\sigma}(t,0) \, \Delta t \\ &= \sum_{t \in [0,\infty)} \frac{2\sqrt{t}+1}{(t+1)^2} \prod_{\tau \in [0,t]} \frac{1}{\left(1+z\left(1+2\sqrt{\tau}\right)\right)}, \quad t \in \mathbb{T}. \end{aligned}$$

Next,

$$h^{\Delta}(t) = -\frac{\sigma(t) + t + 2}{(t+1)^2 (\sigma(t) + 1)^2}$$
$$= -\frac{2t + 2\sqrt{t} + 3}{(t+1)^2 (t+2\sqrt{t} + 2)^2}$$
$$= -f(t), \quad t \in \mathbb{T}.$$

Hence and (1.2), we obtain

$$\mathscr{L}(h^{\Delta})(z) = z\mathscr{L}(h)(z) - h^{\Delta}(0),$$

or

$$-\mathscr{L}(f)(z) = z\mathscr{L}(h)(z) - \frac{3}{4},$$

or

$$\mathscr{L}(f)(z) = -z \sum_{t \in [0,\infty)} \frac{2\sqrt{t}+1}{(t+1)^2} \prod_{\tau \in [0,t]} \frac{1}{\left(1+z\left(1+2\sqrt{\tau}\right)\right)} + \frac{3}{4}.$$

Example 1.4 Let $\mathbb{T} = 3^{\mathbb{N}_0} \bigcup \{0\}, s = 0$ and

$$f(t) = \begin{cases} \frac{4}{(t+1)(3t+1)(9t+1)}, & t \neq 0, \quad t \in \mathbb{T}, \\ \frac{3}{8}, & t = 0. \end{cases}$$

We will find $\mathscr{L}(f)(z)$ for $z \in \mathscr{D}{f}$. Let

$$h(t) = \frac{1}{1+t}, \quad t \in \mathbb{T}.$$

Take $z \in D\{f\} \bigcap D\{h\} \bigcap D\{h^{\Delta}\} \bigcap D\{h^{\Delta^2}\}$. We have

$$\sigma(t) = 3t,$$

 $\mu(t) = 2t, \quad t \in 3^{\mathbb{N}_0},$
 $\sigma(0) = 1,$
 $\mu(0) = 1.$

Next,

$$\begin{split} e^{\sigma}_{\ominus z}\left(t,0\right) &= e^{\int_{0}^{\sigma(t)} \frac{1}{\mu(\tau)} \operatorname{Log}(1+(\ominus z)(\tau)\mu(\tau))\Delta\tau} \\ &= e^{\int_{0}^{\sigma(t)} \frac{1}{\mu(\tau)} \operatorname{Log}\left(1-\frac{z\mu(\tau)}{1+z\mu(\tau)}\right)\Delta\tau} \\ &= e^{\int_{0}^{\sigma(t)} \frac{1}{\mu(\tau)} \operatorname{Log}\frac{1}{1+z\mu(\tau)}\Delta\tau} \\ &= e^{\sum_{\tau \in [0,t]} \operatorname{Log}\frac{1}{1+z\mu(\tau)}} \\ &= \prod_{\tau \in [0,t]} \frac{1}{(1+z\mu(\tau))} \\ &= \begin{cases} \frac{1}{1+z} \prod_{\tau \in [1,t]} \frac{1}{(1+2z\tau)}, & t \in 3^{\mathbb{N}_{0}}, \\ \frac{1}{z+1}, & t = 0. \end{cases} \end{split}$$

Hence,

$$\begin{aligned} \mathscr{L}(h)(z) &= \int_0^\infty \frac{1}{t+1} e_{\ominus z}^{\sigma}(t,0) \, \Delta t \\ &= \sum_{t \in [0,\infty)} \frac{\mu(t)}{t+1} e_{\ominus z}^{\sigma}(t,0) \\ &= \frac{1}{1+z} \left(1 + \sum_{t \in [1,\infty)} \frac{2t}{t+1} \prod_{\tau \in [1,t]} \frac{1}{(1+2z\tau)} \right). \end{aligned}$$

Note that

$$h^{\Delta}(t) = -\frac{1}{(1+t)(1+\sigma(t))}$$
$$= \begin{cases} -\frac{1}{2}, & t = 0, \\ -\frac{1}{(1+t)(1+3t)}, & t \neq 0, \end{cases}$$

for t = 0 we get

$$h^{\Delta^{2}}(0) = \frac{h^{\Delta}(\sigma(0)) - h^{\Delta}(0)}{\sigma(0) - 0}$$
$$= h^{\Delta}(1) + \frac{1}{2}$$
$$= -\frac{1}{8} + \frac{1}{2}$$
$$= \frac{3}{8}$$
$$= f(0),$$

for $t \neq 0$ we obtain